
SAP ABAP table FERC_SVAR {ALV structure for variance allocation check}

FERC_SVAR

BUKRS [CHAR (4)]

LSTAR [CHAR (6)]

KOSTL [CHAR (10)]

TARKZ [CHAR (3)]

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]
 FERC_SVAR-KOSTL = CSKS-KOSTL 0..N

0..N

CSLA

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

LSTAR [CHAR (6)]

DATBI [DATS (8)]

 FERC_SVAR-LSTAR = CSLA-LSTAR 
0..N

0..N

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

 FERC_SVAR-BUKRS = T001-BUKRS 

0..N

0..N

TKA10

MANDT [CLNT (3)]

TARKZ [CHAR (3)]

 FERC_SVAR-TARKZ = TKA10-TARKZ 

0..N

0..N


